Embedded Systems / Model-Based Design

Written exam – February 7  2012
Q1.

Define the OIL declarations that are needed for an application consisting of four tasks: T1, T2, T3, T4 with priority 1, 3, 5 and 6, respectively. Task 4 must be executed without pre-emption.

The four tasks share two resources, R1 (shared by T1, T2 and T4) and R2 (shared by T2 and T3).

Write a sample code for T2.

Q2.

Compute the composition of this systems of FSMs.
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Q3.

Define a testing sequence for the following FSM.
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